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POLITICAL SCIENCE
UBYARA
PAPER-II
W aAYa-I1

This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt All the questions.

pal Mawadl wA (40) egfaselly usdl 8. 635 usn A(R) o B,

WYl Al G duil.

Author of the book ‘Political Liberalism’ is :

(A) J.S. Mill (B) T. H. Green
(C) F. V. Hayek (D) John Rawls
“Ueldlsa letuelan’ Yadsdl duis s 87

A %24, o B) .. Al
© ds.dl. elds D) sl UK

Who linked the idea of distributive justice with proportionate equality to mean
just rewards ?

(A) Plato (B) Aristotle

(C)  John Rawls (D) Nozick

ARl Adlal adARlHL RuUA U sedl’ Wd 519 Aise) 87
(A) el B) wweled

(C) ¥si e ¢ D) Als

Hobbes was describe as a thinker of possessive individualism by which of the
following scholars ?

(A) Oakshott (B) Warrender

(C) Macpherson (D) Ascheroft

A 2ude [Qatiiial syt R siswd @qcaidis dBdae’ L Bids d3
ol 97

A)  isdAie (B) dir-s?

(C) S5 D) usise
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Given below are the List of authors and books. Match them by using the
codes given below :

List 1 List II

(@) Hobbes (1) Prison Note Books
(b) Lenin (2) Anarchy, State and Utopia
(00 Gramsci (3) Leviathan
(d) Nozick (4) The State and Revolution
Code :

(@) () () (@)
A) 1 2 3 4
B) 3 4 1 2
© 4 3 2 1
D) 2 1 4 3

WEl (1) ui 3edts Auisivl <A 2 ©. Wl () 3l Yadsiq Al suwi
&, lel sistl Guydl sY0A ol wigliid Andl :

yiel—1q ylel—2
(@ elon (1) Mot Aloys
® alq @) ‘a-ugl, we, yeiluyy
© wsl (u:) 3 ‘AR’
d) s (4) ‘4 w2 As Jaeyur’
AT

(@) (b) (© d)

(A) 1 2 , 3 4
(B) 3 4 1 2
©) 4 3 2 1
D) 2 1 4 3
Who among the following did not speak of decline of Political theory ?
(A) Berlin (B) Cobban
(C) Dahl (D) Lasswell
A 2udal Rgididl s ‘pwla Rgiadl usdl Al aid 31 4?
Aa) el (B) Sl
(C) slsd D) Atdd
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6. Who proposed ‘Constructive Programme’ as integral part of Swaraj ?

(A) Bal Gangadhar Tilak (B) Mahatma Gandhi
(C) Moti Lal Nehru D) C. R. Das
AAUBUAL A3 AAUAS sidsn’ L RBuud st s edl?
A) cuadiduu Qas (B) sl Al

©) Hidlewa Ae3 ®) AR, €A

7. In which one of the following books Karl Marx formulated the idea of “To
each according to his ability, to each according to his needs” ?

(A) Critique of the Gotha Programme
(B) Das Capital

(C) Communist Manifesto

(D) Civil war in France

ste HSAAL suL YRSl AR ‘635 Wt al3d 2R, e357 Wl @3Raud
AR’ -l Rigid a@wla sul edi?

A)  “‘sls dis 9 onal wiuw’
B) ‘el 3lueq’

©€) ‘s¥y-le Als2el’

®) ‘Alfla dir S s’

8. In the book ‘End of history and the last man’ Francis Fukuyama declares
the victory of :

(A) Liberal Capitalism
(B) Social Democracy
(C) Communism
(D) Rightwing Authoritarianism
‘Dvs Wi (B Aes 4 are A’ sl Sl od wd s3I D7
(A)  Geludalgl yglae
B) Alys diswdl
(O AHXAL
@) A vuvyedl
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10.

11.

12,

13.

In ‘what is to be done’ ? (1902), V. 1. Lenin propounded the doctrine of :
(A) Stateless, classless society

(B) Blue print of future Communist Society

(C) Dictatorship of the prolitariate

D) Vanguard role of the Communist Party

‘diz §» 2 ol s’ (1cor) LLaus. AR sul Reid nlwld sal?

@A) pUpulddl-, adlf@di+ wuy

(B)  AUULL Wzl 45Ul

©) wusdl-ll Ayvicuwdl

O uAA€l vag g

Post Behavioural revolution was enunciated by David Easton in :

(A) 1963 (B) 1965

(C) 1967 | D). 1969

2y, ad-ardl siladl wz2ud Sas Sreq sw adyi 53 -
(A) 53 B) 1esU

(©) ese D) s
Authoritative allocation of values propounded by :
(A) Easton (B) Lipset
(C) Dahl (D) Mcpherson
fsYsd Yeulit 2wl [Ruuud 3 -

a) St B) dlude
(C) ssd (D) As5uA

The classification of Western European party system as cadre and mass was
given by '

(A) Durverger \ (B) Dicey

(C) Sartori ‘ (D) Blondell

yBal yflud va uglad 3s2 A uyedd aoflsaw sl 2y ¢
(A  graR B) sisll

() ¥l D) tai-sd

Montesquieu proposed the theory of separation of powers for promoting :
(A) Equality (B) Efficiency

(C) Rule of Law (D) Liberty

Hiedd Al Qedve Rgladl Sauad dieus sran 530

(A)  AMLridl B) sdaHdl

(C)  Stueld WA D) Wdtdl
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14. Consociational democracy is suggested for :
(A) Homogenius states . (B) Mass democracy
(C) Deeply divided society (D) Post-communist democracy
siilRAuAa diswdldl huud 5320 ¢
@A) wedly uwdl (Sii-lad)  B) wysad diswdl
€ due RQudd W D) qg—AAAEl diswdl
15. All the residual powers remains with the state and not with the centre in

‘the Constitution of :

(A) Canada (B) Germany

(C) India | @) U.SA.

sql ol oy AN AT AXL WA A Al 3 3 WA ®
(A)  31st B®) x4+l

(C) eld D) y.2AA.AN.

16. The Cabinet form of government is based on :
(A) Prime Minister’s Veto
(B) Individual Minister’s Responsibility
(C) Majority Approval
D) Collective Responsibility
so{lde azu-dl AW Sl GUR 2pd &
Aa)  napi{u dlel Gur
B) alddad ua-l FUUELR] GUR
(©) ogidl-l Andl Gu
@) We eIl Gur

17. The term political development is associated with :

(A) Brandt report (B) Gunnar Myrdal
(C) Lucian Pye (D) Paul Sweezy
ARSI Qs 2 il wd Asida B

a) osu-sle e (B) AR s
©€)  eyflu ug D) wa 1A

Pol. Sci.—I1 7 ' PTO.




18.

19.

20.

21.

Name the author of the book ‘The Power Elite’ :

(A) Ralph Miliband (B) Milton Friedman

(C) Amaritya Sen D) C. Wright Mills

‘4 Ya Adle’ sl Avisd UH UL

@A) Ues Hdlea-s B) *leed #lsiA

© il A D) Al. uden Hlen

For a successful revolution, it is necessary to limit it to the political ambit
while excluding the social one is the view of :

(A) Trotsky "(B) Mao

(C) Fanon (D) Arendt

AsAAYdsl sl w2 3 2330 O 3 d WHUFSA ol A sy Nl
Hy[eld sauni 2ud :

(a) zlrdl B) il
(© i D) w2
The concepts of a center and a peripheri is central to :
(A) Modernization theory (B) Neo-liberalism

(C) Social democracy

v w4 YRa-dl Qewadl 3+fld ©
@A)  2wyRsdiil Reid B) laii-cletuellam d
©) wlys diswdl wd M) upellddit Rigid wd

The delimitation of Lok Sabha constituancies was postpond because of :

(D) Dependency theory

(A) Lack of concensus/amongst political parties

(B) Constitutional limitations

(C) Opposition of the media and pressure groups

(D) Uneven population Growth

ALSAMULAL HABLRARUAL 8 issl salq Higs MG usy od 34 3 :
(A)  AXSU vain adAafdnl vieua

B) olatellu Hulewll

(C) AR el A stogal gl ARy

D) AAHdlA 9l qui
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A

22.

23.

24.

25.

Navanirman movement was aimed at :
(A) The peasants of India

(B) The Workers of India

(C) The Business Community

D) Corruption in Public Life
Aaflel isiaq-l asis :

(A)  HIdl vigdl w0 edl

(B) llcl UL A &dl

© Awl adl WA edl

D) A8 DAL erAAR AR &dl
Under which of the five year plans the introduction of Panchayati Raj in
India was suggested ?

(A) First Five Year Plan (B) Second Five Year Plan
(C) Third Five Year Plan (D) Fourth Five Year Plan
5§ daaly dle-udi eidaul daadl Ard yu-d w4y sg?

(4) My daasly die- @B) dla bl yig-
© ol duasla dix- @) ugl dualy Yl

Which of the following political parties enjoy the distinction of having formed
the first non-congress government in an Indian State :

(A) DMK in Tamil Nadu (B) Akalis in Punjab

(C) Lok Dal in Utter Pradesh (D) Communist in Kerala

Fia-iBd qAxfly walinidl sut AU wa Gllddl s AU AL w1 G-
S0 wsR-l 2 5302

@A)  sl.aws. diRa-gHi B) usidlen daori
(C) disen GrMzAML D) AUULAL S
Panchayati Raj was started in India in the year :

(A) 1957 B) 1952

(C) 1959 ®) 1951

ganl qawdl pxl w3zld :

(A) 149 i (B) 1¢4R Hi

(C) ¢ M D) ¢yl ML
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26. A person can be a member of Cabinet without being a member of Parliament
for a maximum period of :
(A) Three months (B) Six months
(C) One year (D) Two years
Aeril ey A (Al Auldd 3BiAeHl uey agul ag F Avu YUl 4d 93 A
(A) =8 HIY B) 9 HIA
© Asad D) & ay
27. Who was the Chairman of the first Finance Commission ?
(A) K. Santhanm (B) Sri. Niyogi
(C) ©Sri. A. K. Chanda (D) Dr. Rajamnnar
UUH SIS sAUAAL AU el ¢
A) 2l 3. Auaqm B 20 FRuel
© sl 3.5, uel D) SL. UFH~UR
28. Name the Prime Minister who never faced the Parliament and stepped down :
(A) Gulzarilal Nanda (B) Charan Singh
(C) Moaraji Desai D) I. K. Gujaral
541 aSUALA el wuql sal @A o Sledll AL sl ysUl edi?
(A)  danlend el B) ARy
(C) HRRD WS | M) 2us.3. AAvUd
29. Sarkaria Commission was setup to look into :
(A) Personnel Administration (B) Financial Administration
(C) Centre-State relations (D) None of these
AsURUL sPA-L &g &dl -
@) sl adlae (B) sl adlae
(C) 3ws-u Asidl D) il sidu <l
30. The concept of ‘Congress System’ was given by :
(A) Atul Kohli (B) Paul Brass
(C) Rajni Kothari (D) D. D. Basu
‘S uar Al Reudadl 2y
A)  da sisdl (B) did st
©) -l siall D) sl.sl. ouy
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31.

32.

33.

34.

“Public Administration Consists of all those operations having for their purpose
the fulfiment or enforcement of Public Policy.” Who said it ?

(A) E. N. Gladden (B) L. D. White

(C) TFred W. Riggs D) F. Goodnow

o033 adlazui e DR Al yel $3al W2 2 M HRHL ol ¥ 51l
(Gupdl) AL ud W 8.7 L s sl 97

(A) S, 248 (B) Ad.Sl. sl

(C) 3S svey. YA D) 5. Ys-l

The Development Administration is primarily concerned with :

(A) Economic development ' (B) Political development

(C) Social development (D) Technological development
st adlazd ywud siqdl 0l Aqela 97

@ s Rsr - B) wurda Qs

©) wlys [Qs D) 2s-idimsa [As

Elton Mayo représents the school of :

(A) Human Relation (B) Scientific Management

(©) Classici D) None of these

Aeert Al A3 adlazui 6 Rensuvit wd Asondan B?

(A) M Asiaidl ‘ B) dsuls Awa--dl

©) wnlly 3 sawrllsa ®) il siSun wvrll A4S el

Which of the following cduntries gives highest importance to ‘Specialist’ instead
of ‘Generalist’ ?

(A) India B UK

(C) United States (D) Pakistan

ARy, adlazsdl>in oied RRRe Slaed 3 FMseudsid qla- adlaesdlxia
Qa1 Hecd ALl ay sul sUHL vl 2wd B7?

A)  ud | (B) 4.3

(C) Y. AU, O) Wi
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35.

36.

317.

38.

It is generally believed that efficient span of control should :

(A) Dbe strict (B) be linient

(C) Dbe long (D) be short

Adl As qeurd Wudl © 3 sidan dga Abu

(A) 555 sidl A B) Getx sidl AdH
(€) daiefl eldl RS2 @) 28 eidl ASH

Which one of the following Luther Gulick has not covered as administrative

function of the Chief Executive ?

(A) Staffing (B) Adjucating

(C) Directing ' (D) Coordinating

eyu sl Hd Y stioul- adladl sl - wudw adl «?
@)  AdesRl B) Uy Ysiel

© [MZuq D) Asd-

Membership to Estimate Committee is drawn from :

(A) Rajya Sabha (B) From top Bureaucrates

(C) Lok Sabha and Rajya Sabha (D) Lok Sabha

vty ARl - duidl wy 97

Qa)  uyeunil B) G sau-tl adladldanidl

(C) disdell i AFUAHIUI D) disuousiell

Who has defined burea[ucracy ‘as a system of administration, characterised
by expertness, impartiality and absence of human relationship ?

(A) Max Weber : (B) E. N. Gladden

(C) J. M. Pfiffner (D) E. E. Dimock

el Ned ‘adlaedl Adl uuL F @ael §, Rwud i, deud 2R
Hida Aoiaidl AerL.? 2L sid sud 97

(A)  AsA AR B) .2, 2ds+

© .24, [sar O ¢.9. Buls
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39.

40.

41.

Administrative Reforms Commission recommanded for :
(A) Abolition of All India Services

(B) Functional Grouping of Generalist Services

(C) Abolition of only Generalist All India Services

(D) Favoured Continuation of Present Grading System
adladl gazan Y A0 etz 3 edl?

@) wue edla Al gl

B) A Aaddl sidvqa e -l

© B oudl At Al Aegl-l

@) adsu AL uglad ag wviardl

What is the main purpose of creating the institution of Lok Pal and Lokayukta ?
(A) to propose administrative reforms

(B) to suggest legel reforms

(C) to check corruption in high offices

(D) to identify the causes of delay in decision making
‘isuld A ‘edisiysa’ -l ARl @Al 8g sdl 87
(A)  adlaz JueU YA

B sl yaL sy

(C) G SleiiMl eideluR Y vigy ysaud

@) Gl dadl wBai adl das sl g e
Which of the following models of international politics does not give central
importance to state as an actor ?

(A) Idealism or Libeyalism

(B) Realism

(C) International Society

(D) Dependency

idANY AXsLQUAL HSeiHidl sul Hdd A sdl 3 e a3 3y
Hecd 2ddl 7

(A) uedate § Gelale

B) uadale 3 drdade

(©)  idANA W% § AFLAL WL Hise

D) dRqds-
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42.

43.

Which of the following is not a correct statement about Game Theory ?

(A) It is a branch of mathematics but is used in Social Sciences as well

(B) It is used in predicting outcomes of war if preferences of states as actors
are known

(C) It assumes that states are not rational

(D) Realists have used game theory extensively

“Wa’ 3 W’ - Rgid 2000 04 2uden Qa-tinidl sy Qa3 +dl?

(A) A ARdaAl 25 wel © g d-l Guuldl wHslAadl vie: ya wy
R

B) A sdl 3 vtetstAA wiedll wer us dl Yerti wRsuHIAL 2ueudl s
Al Gualol wd 6§

(©) Al madt 3 wen Al & 3 URAL dilEs 20§ efedu 0 siH 52
8

®O)  vadadlpil 3 ardadiglaiizl d-l vel Guyial syl 6

Below are given two statements, one is Assertion (A) and other is Reason

(R). State whether statements are correct and whether (R) is reason for (A)

or not by using codes given below :

Assertion (A) : Cold War became intense because two superpowers became

engaged in arms competition '
Reason (R) : Cold War became intense because of tendency of two su-
perpowers to look at local issues in global terms

(A) Both (A) and (R) are correct and (R) is correct explanation of (A)

(B) Both (A) and (R) ?re correct but (R) is not explanation of (A)

(C) (A) is correct but (R) is not

D) (A) is incorrect but (R) is correct

A & [@Qanl 2ua 8. d ol WAl B 3 adl Aqd (R) A (A) H2 512234

8 3 «dl d [Qa-idl QA 2wdel sisdl Guaior s wpual

sis :

A) (A) ¥ (R) ol wAl &

(B) (A 21 (R) 61 AAi &

-

y
©) (A) WA 9 YA (R) v 8
3

w4 (R) 3 (A) "R s &
QL (R) ¥ (A) H2d s1:9 el

-

D) (R) A © w3l (A) M
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44.

45.

46.

The reason why states want UN to authorise military action against aggressors

is that :

(A) UN is a militarity powerful body

(B) Only that UN constitution can authorise action against aggressors

(C) That body takes quick action against aggressors

D) TUN action is considered legitimate because it represents the voice of
international community

ALEHSL AN Yol gl ¥ Al Wy Al Ax ARAL $¥ B S 3

(a) Y-l @es?l gl alddaudll e &

(B) A yelig oletw usHs WA wadl dadl Aaaud s 8

(C) d AUl 2usMs WH »sudl g d

@) Yl gl Qg uomj, ellgd oAl © S8 3 A (y-tl) wazw{lq AYELU-L
Ml Y s O

Nuclear Non-Poliferation Treaty (NPT) :

(A) has lapsed

(B) is being priodically revised

(C) has achieved permanent status

(D) has become defunct because many states have withdrawn from it

U (B RE

(A) Reoldd 4S &

B) auidl quid d aHuHdlel Y3l udi ddul 20aul ysauui 2ud o

(€)  add sd sl straaii 2udl ©

D) adl dgddl 8d Q@;‘. Al 5129 3 agn AU Axidl el yald wie Y
2

Which of the following scholars described ‘Natrual Resources’ as ‘Shrinking

assets’ 7

(A) E. H. Carr (B) Hans Morgenthau

(C) Immanuel Kant (D) Harold and Margaret Sprout

sedl AURA ‘vedl wdl ssudl’ a3y A euldal Qg sul @b

wiquidl 97

Aa) S.22A. s B) siu Widl-yl

(©)  Siyd st D) &ws A wale WwBe
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417.

48.

49.

50.

Which of the following are methods of peaceful settlement of disputes ?

(A) Arbitration (B) Mediation

(C) Conciliation (D) All of these
»usialid wildua Ad udidendl wglztidi A4 wde iy 97
A aacel B) Heuel

©) wixla D) UL oLElL-AL

Which is head quarter of WTO (World Trade Organization) ?

(A) New York (B) Geneva

(C) Washington D.C. (D) Hague

[Qea oy AR (WTO) o 3w uus sy o7

(A) -yl B) w-lai

(C) diglloe Sl D) 83

Who said that war is a continuation of politics by other means ?
(A) Bismark (B) Henry the VIII

(C) Clausewitz (D) Talleyrand

‘Yo W oflot wa-idl dd AXSIRQA ¥ D7 L sUA S D7

) Braus (B) &+ s (VIID

¢

©) sdinlaen D) 2dzU-S

‘Decision Making Theory’ is associated with :

(A) Andrew Linklater (B) Richard Synder

(C) Karl Deutsch (D) E. H. Carr

‘Csly el wlEuirl Rigia’ (Decision Making Theory) si-{l & Asoudal 97
(A)  A-gy dlrsder B) qus +uds

© sd s D) S.3A. 512
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